

On the Spectral Norms of r -Circulant Matrices with the k -Fibonacci and k -Lucas Numbers¹

Shou-qiang SHEN

Department of Mathematics
Ningbo University, 315211 Ningbo, P.R. China
shenshouqiang0@sina.com

Jian-miao CEN

Department of Mathematics
Ningbo University, 315211 Ningbo, P.R. China
cjmclj@mail.nbptt.zj.cn

Abstract

In this paper, we consider the k -Fibonacci and k -Lucas sequences $\{F_{k,n}\}_{n \in \mathbb{N}}$ and $\{L_{k,n}\}_{n \in \mathbb{N}}$. Let $\mathcal{A} = C_r(F_{k,0}, F_{k,1}, \dots, F_{k,n-1})$ and $\mathcal{B} = C_r(L_{k,0}, L_{k,1}, \dots, L_{k,n-1})$ be r -circulant matrices. Afterwards, we give upper and lower bounds for the spectral norms of matrices \mathcal{A} and \mathcal{B} . In addition, we obtain some bounds for the spectral norms of Hadamard and Kronecker products of these matrices.

Mathematics Subject Classification: 15A45, 15A60

Keywords: r -Circulant matrix; Spectral norm; k -Fibonacci number; k -Lucas number

1 Introduction and Preliminaries

For $n \geq 1$, let k be any positive real number, then the k -Fibonacci sequence $\{F_{k,n}\}_{n \in \mathbb{N}}$ and the k -Lucas sequence $\{L_{k,n}\}_{n \in \mathbb{N}}$ are defined respectively by the following equations:

$$F_{k,n+1} = kF_{k,n} + F_{k,n-1}, \quad F_{k,0} = 0, \quad F_{k,1} = 1$$

$$L_{k,n+1} = kL_{k,n} + L_{k,n-1}, \quad L_{k,0} = 2, \quad L_{k,1} = k$$

¹This work was supported by K. C. Wong Magna Fund in Ningbo University.

Obviously, when $k = 1$, these two sequences reduce to the well-known Fibonacci sequence $\{F_n\}_{n \in \mathbb{N}}$ and Lucas sequence $\{L_n\}_{n \in \mathbb{N}}$, respectively.

Let α and β be the roots of the characteristic equation $x^2 - kx - 1 = 0$, then the Binet formulas of the sequences $\{F_{k,n}\}_{n \in \mathbb{N}}$ and $\{L_{k,n}\}_{n \in \mathbb{N}}$ have the form

$$F_{k,n} = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad L_{k,n} = \alpha^n + \beta^n$$

Recently, some authors have given generating functions, derivation of sums and combinatorial representations of the k -Fibonacci numbers and its certain generalizations [1-4]. For example, Kilic [2] has given the sums of squares of the terms of sequence $\{u_n\}$ and the sums of products of consecutive terms of $\{u_n\}$, then he has obtained the generating functions and combinatorial representations of the products $u_n u_{n+1}$ and $u_n u_{n+2}$. Falcon and Plaza [3] have derived the generating functions and sums of the k -Fibonacci sequence $\{F_{k,an+r}\}_{n \in \mathbb{N}}$ and the alternating sequence $\{(-1)^n F_{k,an+r}\}_{n \in \mathbb{N}}$, where a, r are integers and $0 \leq r \leq a - 1$.

Further, there have been several papers on the norms of some special matrices [5-11]. For example, Solak and Bozkurt [5] have found out upper and lower bounds for the spectral norms of Cauchy-Toeplitz and Cauchy-Hankel matrices in the forms $T_n = [\frac{1}{a+(i-j)b}]_{i,j=1}^n$, $H_n = [\frac{1}{a+(i+j)b}]_{i,j=1}^n$. Solak [7,8] has defined $A = [a_{ij}]$ and $B = [b_{ij}]$ as $n \times n$ circulant matrices, where $a_{ij} \equiv F_{(\text{mod}(j-i,n))}$ and $b_{ij} \equiv L_{(\text{mod}(j-i,n))}$, then he has given some bounds for the A and B matrices concerned with the spectral and Euclidean norms. Bani-Domi and Kittaneh [11] have established two general norm equalities for circulant and skew circulant operator matrices, furthermore, they also have obtained pinching type inequalities for operator matrices.

In this paper, let $\mathcal{A} = C_r(F_{k,0}, F_{k,1}, \dots, F_{k,n-1})$ and $\mathcal{B} = C_r(L_{k,0}, L_{k,1}, \dots, L_{k,n-1})$ be r -circulant matrices. Afterwards, we give upper and lower bounds for the spectral norms of matrices \mathcal{A} and \mathcal{B} . In the partial case $k = 1$, we find out lower and upper bounds for the spectral norms of r -circulant matrices with the Fibonacci and Lucas numbers. In addition, we obtain some bounds for the spectral norms of Hadamard and Kronecker products of these matrices.

Now we give some preliminaries related to our study. A matrix $C = [c_{ij}] \in M_{n,n}(\mathcal{C})$ is called a r -circulant matrix if it is of the form

$$c_{ij} = \begin{cases} c_{j-i}, & j \geq i \\ rc_{n+j-i}, & j < i \end{cases}$$

Obviously, the r -circulant matrix C is determined by parameter r and its first row elements c_0, c_1, \dots, c_{n-1} , thus we denote $C = C_r(c_0, c_1, \dots, c_{n-1})$. Especially, let $r = 1$, the matrix C is called a circulant matrix.

For any $A = [a_{ij}] \in M_{m,n}(\mathcal{C})$. The well-known Frobenius (or Euclidean)

norm of matrix A is

$$\|A\|_F = \left[\sum_{i=1}^m \sum_{j=1}^n |a_{ij}|^2 \right]^{\frac{1}{2}}$$

and also the spectral norm of matrix A is

$$\|A\|_2 = \sqrt{\max_{1 \leq i \leq n} \lambda_i(A^H A)}$$

where $\lambda_i(A^H A)$ is eigenvalue of $A^H A$ and A^H is conjugate transpose of matrix A . Then the following inequality holds:

$$\frac{1}{\sqrt{n}} \|A\|_F \leq \|A\|_2 \leq \|A\|_F \quad (1)$$

Lemma 1^[12] For any $A, B \in M_{m,n}(\mathbb{C})$, we have

$$\|A \circ B\|_2 \leq \|A\|_2 \|B\|_2$$

where $A \circ B$ is the Hadamard product of A and B .

Lemma 2^[12] Let $A \in M_{m,n}(\mathbb{C})$, $B \in M_{p,q}(\mathbb{C})$ be given, then we have

$$\|A \otimes B\|_2 = \|A\|_2 \|B\|_2$$

where $A \otimes B$ is the Kronecker product of A and B .

Lemma 3^[2] Let $F_{k,n}$ be the n -th term of the sequence $\{F_{k,n}\}_{n \in \mathbb{N}}$, then we have

$$\sum_{i=0}^n F_{k,i}^2 = \frac{F_{k,n+1} F_{k,n}}{k} \quad (2)$$

Lemma 4 For $n \geq 1$, then we have the following recursion formulas

$$(i) L_{k,n} = kF_{k,n} + 2F_{k,n-1}$$

$$(ii) L_{k,n} L_{k,n-1} = (k^2 + 4) F_{k,n} F_{k,n-1} + (-1)^{n-1} \cdot 2k.$$

Proof: (i) Since $F_{k,n} = \frac{\alpha^n - \beta^n}{\alpha - \beta}$ and $\alpha + \beta = k$, then we have

$$\begin{aligned} kF_{k,n} + 2F_{k,n-1} &= 2F_{k,n+1} - kF_{k,n} \\ &= \frac{2}{\alpha - \beta} (\alpha^{n+1} - \beta^{n+1}) - \frac{k}{\alpha - \beta} (\alpha^n - \beta^n) \\ &= \frac{1}{\alpha - \beta} [\alpha^n (2\alpha - k) - \beta^n (2\beta - k)] \\ &= \alpha^n + \beta^n = L_{k,n} \end{aligned}$$

(ii) Taking into account $\alpha + \beta = k$ and $\alpha\beta = -1$, then we have

$$\begin{aligned} F_{k,n} F_{k,n-1} &= \frac{\alpha^n - \beta^n}{\alpha - \beta} \cdot \frac{\alpha^{n-1} - \beta^{n-1}}{\alpha - \beta} = \frac{\alpha^{2n-1} + \beta^{2n-1} - (\alpha\beta)^{n-1}(\alpha + \beta)}{(\alpha - \beta)^2} \\ &= \frac{\alpha^{2n-1} + \beta^{2n-1} - (-1)^{n-1}k}{k^2 + 4} \end{aligned}$$

then we obtain

$$\alpha^{2n-1} + \beta^{2n-1} = (k^2 + 4)F_{k,n}F_{k,n-1} + (-1)^{n-1}k$$

hence

$$\begin{aligned} L_{k,n}L_{k,n-1} &= (\alpha^n + \beta^n) \cdot (\alpha^{n-1} + \beta^{n-1}) = \alpha^{2n-1} + \beta^{2n-1} + (-1)^{n-1}k \\ &= (k^2 + 4)F_{k,n}F_{k,n-1} + (-1)^{n-1} \cdot 2k \end{aligned}$$

Thus, the proof is completed.

2 Main Results

Theorem 1 Let $\mathcal{A} = C_r(F_{k,0}, F_{k,1}, \dots, F_{k,n-1})$ be r -circulant matrix, where $r \in \mathcal{C}$.

(i) If $|r| \geq 1$, then

$$\sqrt{\frac{F_{k,n}F_{k,n-1}}{k}} \leq \|\mathcal{A}\|_2 \leq \frac{|r| - |r|^n(F_{k,n} + |r|F_{k,n-1})}{1 - k|r| - |r|^2}$$

(ii) If $|r| < 1$, then

$$|r|\sqrt{\frac{F_{k,n}F_{k,n-1}}{k}} \leq \|\mathcal{A}\|_2 \leq \frac{F_{k,n} + F_{k,n-1} - 1}{k}.$$

Proof: The matrix \mathcal{A} is of the form

$$\mathcal{A} = \begin{pmatrix} F_{k,0} & F_{k,1} & F_{k,2} & \cdots & F_{k,n-1} \\ rF_{k,n-1} & F_{k,0} & F_{k,1} & \cdots & F_{k,n-2} \\ rF_{k,n-2} & rF_{k,n-1} & F_{k,0} & \cdots & F_{k,n-3} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ rF_{k,1} & rF_{k,2} & rF_{k,3} & \cdots & F_{k,0} \end{pmatrix}$$

then we have

$$\|\mathcal{A}\|_F^2 = \sum_{i=0}^{n-1} (n-i)F_{k,i}^2 + \sum_{i=1}^{n-1} i|r|^2 F_{k,i}^2$$

when $|r| \geq 1$, by Lemma 3, we obtain

$$\|\mathcal{A}\|_F^2 \geq \sum_{i=0}^{n-1} (n-i)F_{k,i}^2 + \sum_{i=1}^{n-1} iF_{k,i}^2 = n \sum_{i=0}^{n-1} F_{k,i}^2 = n \cdot \frac{F_{k,n}F_{k,n-1}}{k}$$

hence

$$\|\mathcal{A}\|_2 \geq \frac{1}{\sqrt{n}} \|\mathcal{A}\|_F \geq \sqrt{\frac{F_{k,n}F_{k,n-1}}{k}}$$

when $|r| < 1$, we also obtain

$$\|\mathcal{A}\|_F^2 \geq \sum_{i=0}^{n-1} (n-i)|r|^2 F_{k,i}^2 + \sum_{i=1}^{n-1} i|r|^2 F_{k,i}^2 = n|r|^2 \sum_{i=0}^{n-1} F_{k,i}^2 = n \cdot \frac{|r|^2 F_{k,n} F_{k,n-1}}{k}$$

hence

$$\|\mathcal{A}\|_2 \geq \frac{1}{\sqrt{n}} \|\mathcal{A}\|_F \geq |r| \sqrt{\frac{F_{k,n} F_{k,n-1}}{k}}$$

On the other hand, let $f(x) = \sum_{i=0}^{n-1} F_{k,i} x^i$ be a scalar-valued polynomial, and $\pi_r = C_r(0, 1, 0, \dots, 0)$ be a r -circulant matrix. then we have

$$\mathcal{A} = f(\pi_r) = \sum_{i=0}^{n-1} F_{k,i} \pi_r^i$$

hence

$$\|\mathcal{A}\|_2 = \left\| \sum_{i=0}^{n-1} F_{k,i} \pi_r^i \right\|_2 \leq \sum_{i=0}^{n-1} \|F_{k,i} \pi_r^i\|_2 \leq \sum_{i=0}^{n-1} F_{k,i} \|\pi_r\|_2^i$$

Since the matrix $\pi_r^H \pi_r$ is of the form

$$\pi_r^H \pi_r = \begin{pmatrix} |r|^2 & 0 & 0 & \cdots & 0 \\ 0 & 1 & 0 & \cdots & 0 \\ 0 & 0 & 1 & \cdots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \cdots & 1 \end{pmatrix}$$

hence

$$\|\pi_r\|_2 = \sqrt{\max_{1 \leq i \leq n} \lambda_i(\pi_r^H \pi_r)} = \begin{cases} |r|, & |r| \geq 1 \\ 1, & |r| < 1 \end{cases}$$

when $|r| \geq 1$, $1 - \alpha|r| \neq 0$ and $1 - \beta|r| \neq 0$, so we have

$$\begin{aligned} \|\mathcal{A}\|_2 &\leq \sum_{i=0}^{n-1} F_{k,i} |r|^i = \sum_{i=0}^{n-1} |r|^i \frac{\alpha^i - \beta^i}{\alpha - \beta} = \frac{1}{\alpha - \beta} \left[\frac{1 - (\alpha|r|)^n}{1 - \alpha|r|} - \frac{1 - (\beta|r|)^n}{1 - \beta|r|} \right] \\ &= \frac{(\alpha - \beta)|r| - (\alpha^n - \beta^n)|r|^n + \alpha\beta|r|^{n+1}(\alpha^{n-1} - \beta^{n-1})}{(\alpha - \beta)(1 - (\alpha + \beta)|r| + \alpha\beta|r|^2)} \\ &= \frac{|r| - |r|^n(F_{k,n} + |r|F_{k,n-1})}{1 - k|r| - |r|^2}. \end{aligned}$$

when $|r| < 1$, similarly, we have

$$\|\mathcal{A}\|_2 \leq \sum_{i=0}^{n-1} F_{k,i} = \frac{F_{k,n} + F_{k,n-1} - 1}{k}$$

Thus, the proof is completed.

If we choose $k = 1$ in Theorem 1, then we have the following result:

Corollary 1 Let $\mathcal{A} = C_r(F_0, F_1, \dots, F_{n-1})$ be r -circulant matrix, where $r \in \mathcal{C}$, and F_n is the n -th Fibonacci number.

(i) If $|r| \geq 1$, then

$$\sqrt{F_n F_{n-1}} \leq \|\mathcal{A}\|_2 \leq \frac{|r| - |r|^n(F_n + |r|F_{n-1})}{1 - |r| - |r|^2}$$

(ii) If $|r| < 1$, then

$$|r|\sqrt{F_n F_{n-1}} \leq \|\mathcal{A}\|_2 \leq F_{n+1} - 1.$$

In fact, this Corollary gives lower and upper bounds for the spectral norm of r -circulant matrix with the Fibonacci numbers.

Theorem 2 Let $\mathcal{B} = C_r(L_{k,0}, L_{k,1}, \dots, L_{k,n-1})$ be r -circulant matrix, where $r \in \mathcal{C}$.

(i) If $|r| \geq 1$, then

$$\begin{aligned} \sqrt{(k + \frac{4}{k})F_{k,n}F_{k,n-1} + 2(1 + (-1)^{n-1})} &\leq \|\mathcal{B}\|_2 \\ &\leq \frac{2 - k|r| - |r|^n[(k + 2|r|)F_{k,n} + (2 - k|r|)F_{k,n-1}]}{1 - k|r| - |r|^2} \end{aligned}$$

(ii) If $|r| < 1$, then

$$\begin{aligned} |r|\sqrt{(k + \frac{4}{k})F_{k,n}F_{k,n-1} + 2(1 + (-1)^{n-1})} &\leq \|\mathcal{B}\|_2 \\ &\leq \frac{(k + 2)F_{k,n} + (2 - k)F_{k,n-1} + k - 2}{k}. \end{aligned}$$

Proof: The matrix \mathcal{B} is of the form

$$\mathcal{B} = \begin{pmatrix} L_{k,0} & L_{k,1} & L_{k,2} & \cdots & L_{k,n-1} \\ rL_{k,n-1} & L_{k,0} & L_{k,1} & \cdots & L_{k,n-2} \\ rL_{k,n-2} & rL_{k,n-1} & L_{k,0} & \cdots & L_{k,n-3} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ rL_{k,1} & rL_{k,2} & rL_{k,3} & \cdots & L_{k,0} \end{pmatrix}$$

then we have

$$\|\mathcal{B}\|_F^2 = \sum_{i=0}^{n-1} (n-i)L_{k,i}^2 + \sum_{i=1}^{n-1} i|r|^2 L_{k,i}^2$$

since

$$\begin{aligned} L_{k,n}L_{k,n-1} &= (kL_{k,n-1} + L_{k,n-2})L_{k,n-1} = kL_{k,n-1}^2 + L_{k,n-1}L_{k,n-2} = \cdots \\ &= kL_{k,n-1}^2 + kL_{k,n-2}^2 + \cdots + kL_{k,1}^2 + L_{k,1}L_{k,0} \\ &= k \sum_{i=0}^{n-1} L_{k,i}^2 - 2k \end{aligned}$$

then we have

$$\sum_{i=0}^{n-1} L_{k,i}^2 = \frac{L_{k,n}L_{k,n-1}}{k} + 2 \quad (3)$$

when $|r| \geq 1$, from (3), we obtain

$$\|\mathcal{B}\|_F^2 \geq \sum_{i=0}^{n-1} (n-i)L_{k,i}^2 + \sum_{i=1}^{n-1} iL_{k,i}^2 = n \sum_{i=0}^{n-1} L_{k,i}^2 = n \cdot \left(\frac{L_{k,n}L_{k,n-1}}{k} + 2 \right)$$

hence, by Lemma 4, we have

$$\|\mathcal{B}\|_2 \geq \frac{1}{\sqrt{n}} \|\mathcal{B}\|_F \geq \sqrt{\frac{L_{k,n}L_{k,n-1}}{k} + 2} = \sqrt{\left(k + \frac{4}{k}\right)F_{k,n}F_{k,n-1} + 2(1 + (-1)^{n-1})}$$

when $|r| < 1$, we also obtain

$$\|\mathcal{B}\|_F^2 \geq \sum_{i=0}^{n-1} (n-i)|r|^2 L_{k,i}^2 + \sum_{i=1}^{n-1} i|r|^2 L_{k,i}^2 = n|r|^2 \sum_{i=0}^{n-1} L_{k,i}^2 = n|r|^2 \cdot \left(\frac{L_{k,n}L_{k,n-1}}{k} + 2 \right)$$

hence

$$\|\mathcal{B}\|_2 \geq \frac{1}{\sqrt{n}} \|\mathcal{B}\|_F \geq |r| \sqrt{\left(k + \frac{4}{k}\right)F_{k,n}F_{k,n-1} + 2(1 + (-1)^{n-1})}$$

On the other hand, let $g(x) = \sum_{i=0}^{n-1} L_{k,i}x^i$ be a scalar-valued polynomial, and $\pi_r = C_r(0, 1, 0, \dots, 0)$ be a r -circulant matrix. then we have

$$\mathcal{B} = g(\pi_r) = \sum_{i=0}^{n-1} L_{k,i}\pi_r^i$$

hence

$$\|\mathcal{B}\|_2 = \left\| \sum_{i=0}^{n-1} L_{k,i}\pi_r^i \right\|_2 \leq \sum_{i=0}^{n-1} \|L_{k,i}\pi_r^i\|_2 \leq \sum_{i=0}^{n-1} L_{k,i} \|\pi_r\|_2^i$$

while

$$\|\pi_r\|_2 = \sqrt{\max_{1 \leq i \leq n} \lambda_i(\pi_r^H \pi_r)} = \begin{cases} |r|, & |r| \geq 1 \\ 1, & |r| < 1 \end{cases}$$

hence, when $|r| \geq 1$, by Lemma 4, we have

$$\begin{aligned}
 \|\mathcal{B}\|_2 &\leq \sum_{i=0}^{n-1} L_{k,i} |r|^i = \sum_{i=0}^{n-1} |r|^i (\alpha^i + \beta^i) = \frac{1 - (\alpha|r|)^n}{1 - \alpha|r|} + \frac{1 - (\beta|r|)^n}{1 - \beta|r|} \\
 &= \frac{2 - (\alpha + \beta)|r| - (\alpha^n + \beta^n)|r|^n + \alpha\beta|r|^{n+1}(\alpha^{n-1} + \beta^{n-1})}{1 - (\alpha + \beta)|r| + \alpha\beta|r|^2} \\
 &= \frac{2 - k|r| - |r|^n(L_{k,n} + |r|L_{k,n-1})}{1 - k|r| - |r|^2} \\
 &= \frac{2 - k|r| - |r|^n[(k + 2|r|)F_{k,n} + (2 - k|r|)F_{k,n-1}]}{1 - k|r| - |r|^2}.
 \end{aligned}$$

when $|r| < 1$, similarly, we have

$$\|\mathcal{B}\|_2 \leq \sum_{i=0}^{n-1} L_{k,i} = \frac{(k + 2)F_{k,n} + (2 - k)F_{k,n-1} + k - 2}{k}$$

Thus, the proof is completed.

When $k = 1$ in Theorem 2, then we have the following result:

Corollary 2 Let $\mathcal{B} = C_r(L_0, L_1, \dots, L_{n-1})$ be r -circulant matrix, where $r \in \mathcal{C}$, and L_n is the n -th Lucas number.

(i) If $|r| \geq 1$, then

$$\begin{aligned}
 \sqrt{5F_n F_{n-1} + 2(1 + (-1)^{n-1})} &\leq \|\mathcal{B}\|_2 \\
 &\leq \frac{2 - |r| - |r|^n[(1 + 2|r|)F_n + (2 - |r|)F_{n-1}]}{1 - |r| - |r|^2}
 \end{aligned}$$

(ii) If $|r| < 1$, then

$$|r| \sqrt{5F_n F_{n-1} + 2(1 + (-1)^{n-1})} \leq \|\mathcal{B}\|_2 \leq 3F_n + F_{n-1} - 1.$$

In fact, this Corollary gives lower and upper bounds for the spectral norm of r -circulant matrix with the Lucas numbers.

Considering the results of Theorem 1 and Theorem 2, then we have the following important results.

Corollary 3 Let $\mathcal{A} = C_r(F_{k,0}, F_{k,1}, \dots, F_{k,n-1})$ and $\mathcal{B} = C_r(L_{k,0}, L_{k,1}, \dots, L_{k,n-1})$ be r -circulant matrices, where $r \in \mathcal{C}$.

(i) If $|r| \geq 1$, then

$$\begin{aligned}
 \|\mathcal{A} \circ \mathcal{B}\|_2 &\leq \frac{|r| - |r|^n(F_{k,n} + |r|F_{k,n-1})}{1 - k|r| - |r|^2} \\
 &\quad \times \frac{2 - k|r| - |r|^n[(k + 2|r|)F_{k,n} + (2 - k|r|)F_{k,n-1}]}{1 - k|r| - |r|^2}
 \end{aligned}$$

(ii) If $|r| < 1$, then

$$\|\mathcal{A} \circ \mathcal{B}\|_2 \leq \frac{(F_{k,n} + F_{k,n-1} - 1) \times [(k+2)F_{k,n} + (2-k)F_{k,n-1} + k - 2]}{k^2}.$$

Proof: Since $\|\mathcal{A} \circ \mathcal{B}\|_2 \leq \|\mathcal{A}\|_2 \|\mathcal{B}\|_2$, the proof is trivial by Theorems 1 and 2.

Corollary 4 Let $\mathcal{A} = C_r(F_{k,0}, F_{k,1}, \dots, F_{k,n-1})$ and $\mathcal{B} = C_r(L_{k,0}, L_{k,1}, \dots, L_{k,n-1})$ be r -circulant matrices, where $r \in \mathcal{C}$.

(i) If $|r| \geq 1$, then

$$\begin{aligned} \|\mathcal{A} \otimes \mathcal{B}\|_2 &\leq \frac{|r| - |r|^n(F_{k,n} + |r|F_{k,n-1})}{1 - k|r| - |r|^2} \\ &\quad \times \frac{2 - k|r| - |r|^n[(k+2|r|)F_{k,n} + (2-k|r|)F_{k,n-1}]}{1 - k|r| - |r|^2} \end{aligned}$$

and

$$\|\mathcal{A} \otimes \mathcal{B}\|_2 \geq \frac{1}{k} \sqrt{F_{k,n}F_{k,n-1}[(k^2 + 4)F_{k,n}F_{k,n-1} + 2k(1 + (-1)^{n-1})]}$$

(ii) If $|r| < 1$, then

$$\|\mathcal{A} \otimes \mathcal{B}\|_2 \leq \frac{(F_{k,n} + F_{k,n-1} - 1) \times [(k+2)F_{k,n} + (2-k)F_{k,n-1} + k - 2]}{k^2}$$

and

$$\|\mathcal{A} \otimes \mathcal{B}\|_2 \geq \frac{|r|^2}{k} \sqrt{F_{k,n}F_{k,n-1}[(k^2 + 4)F_{k,n}F_{k,n-1} + 2k(1 + (-1)^{n-1})]}.$$

Proof: Since $\|\mathcal{A} \otimes \mathcal{B}\|_2 = \|\mathcal{A}\|_2 \|\mathcal{B}\|_2$, the proof is trivial by Theorems 1 and 2.

References

- [1] S. Falcón, Á. Plaza, The k -Fibonacci sequence and the Pascal 2-triangle, *Chaos, Solitons Fract.*, **33**(2007), 38-49.
- [2] E. Kilic, Sums of the squares of terms of sequence $\{u_n\}$, *Indian Acad. Sci.(Math.Sci.)*, **118**(1)(2008), 27-41.
- [3] S. Falcon, A. Plaza, On k -Fibonacci numbers of arithmetic indexes, *Appl. Math. Comput.*, **208**(2009), 180-185.

- [4] S. Falcón, Á. Plaza, On k -Fibonacci sequences and polynomials and their derivatives, *Chaos, Solitons Fract.*, **39**(2009), 1005-1019.
- [5] S. Solak, D. Bozkurt, On the spectral norms of Cauchy-Toeplitz and Cauchy-Hankel matrices, *Appl. Math. Comput.*, **140**(2003), 231-238.
- [6] S. Solak, D. Bozkurt, Some bounds on ℓ_p matrix and ℓ_p operator norms of almost circulant, Cauchy-Toeplitz and Cauchy-Hankel matrices, *Math. Comput. Applicat. Int. J.*, **7**(3)(2002), 211-218.
- [7] S. Solak, On the norms of circulant matrices with the Fibonacci and Lucas numbers, *Appl. Math. Comput.*, **160**(2005), 125-132.
- [8] S. Solak, Erratum to “On the norms of circulant matrices with the Fibonacci and Lucas numbers” [Appl. Math. Comput. 160(2005) 125-132], *Appl. Math. Comput.*, **190**(2007), 1855-1856.
- [9] A. Yalçiner, Spectral norms of some special circulant matrices, *Int. J. Contemp. Math. Sciences*, **3**(35)(2008), 1733-1738.
- [10] R. Mathias, The spectral norm of a nonnegative matrix, *Linear Algebra Appl.*, **131**(1990), 269-284.
- [11] W. Bani-Domi, F. Kittaneh, Norm equalities and inequalities for operator matrices, *Linear Algebra Appl.*, **429**(2008), 57-67.
- [12] R. A. Horn, C. R. Johnson, Topics in Matrix Analysis, *Cambridge University Press*, Cambridge, 1991.

Received: August, 2009